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Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five questions: 2x5=10
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a)

b)

Which is the smallest and largest blood cell
in the peripheral human blood?
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Name a laboratory method for estimation of
haemoglobin. What is the normal level of

haemoglobin in a young adult male?
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c) Define bleeding time.
TS EFAPT-GF HLes] 1S |

d)  What are the normal count of RBC and WBC?
RBC @38 WBC-97 Feiis #Afald Fo ¢

e¢) Define anaemia.
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f)  What are the features of a good blood film
for differential count?
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g) State the importance of Mean Corpuscular
Haemoglobin (MCH).
MCH-¢9 @7g (=14 |

2. Answer any two questions: 5x2=10
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a)

b)
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State the differences between the peripheral

and venous blood.
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Describe the causes of gender difference in

haemoglobin concentration in human.
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d)

Answer any two questions:

Enumerate the physiological causes of
increase and decrease in haemoglobin in
blood.
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Name the factors responsible for alteration
in BT and CT.
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10%x2=20
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3.
a)
b)
c)
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Write the procedure of staining of blood film

using Leishman's stain.
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Write the procedure of haemoglobin

estimation by a suitable laboratory method.
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What is clotting time? Write the procedure

of clotting time measurement. 2+8=10
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d)

341/Physiol

Write the procedure of estimation of SGOT.
State its physiological significance.
5+5=10
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